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Questions 1 to 2 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (4 marks)

1 In the figure below, ABC is a triangle.

A cC F

(a) What is base of triangle ABC when the height is CD?

(b) What is the height of triangie ABC when the base is AC?

Ans: (a) (1]

(b) [1]
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2 In the square grid below, AE, CG, AB, BC, FG and FE are straight lines.

10 cm

C

10 cm
-~
________ B : S
b

What is the total area of the shaded parts as shown in the figure?

Ans:

cm? [2]
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For questions 3 to 6, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets { ] at
the end of each question or part-question. (16 marks)

3 The solid shown below is made up of some 1-cm cubes.

Top view

Side view * * * *

(2) What is the volume of the solid?

Ans: (a) 1

(b) Draw the top view and the front view of the solid on the grids below.

Top View Front View
- » ] - L ] = L 4 . [3 - - - [ ] - - »
L) » - [ ] - ] [ ] [ ] - ™ - ®» - » » -
[2]
3
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4

A farmer harvested 123.29 kg of groundnuts in the morning.

(a) How many grams of groundnuts did the farmer harvest in the
moming?

(b) The farmer then harvested another 88 kg 710 g of groundnuts in the
aftemoon. All the groundnuts harvested by the farmer in the
morning and afternoon were packed into bags of 100 g each. How
many such bags of groundnuts were there?

Ans: (a) 1]

(b} [3]
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2 :
A rectangular tank was e filled with water at first. Some of the water
from the rectangular tank was poured into an empty cubical container of

1
sides 8 cm each to the brim. The rectangular tank then became 3" filled
with water.

(a) What was the volume of water in the cubical container when it was
filled to the brim? '

(b) What was the capacity of the rectangular tank? Give your answer
in litres_and millilitres.

Ans: {(a) [1]
(b) (3]

www.testpapersfree.com




The table shows the length of ribbon used in each month by Jisco. The

length of ribbon she used in May and June are not shown.

(a)

{b)

(c)

(d)

Month Length of ribbon used (m})
January 129.85
February 130.2
March 132.55
April 140.35
May
June

In which month, from January to April, did Jisoo use the shortest

length pof ribbon?

What was. the total length of ribbon Jisoo used in February and

April?

In June, Jisoo needed 50 pieces of ribbons, each of length 2.2 m.
The ribbon was sold in rolls of 10 m each. What was the least

number of rolls of ribbon that Jisoo needed to buy?

Each of the statements below is either true, false or not possible to
tell from the information given. For each statement, put a tick (v') to
indicate your answer.

Jisoo used the longest fength of
ribbon in May.

Between the months of January
and April, the greatest increase
in the length of ribbon used was

from February to March.

Ans: (a)

(b)

(c)

[1]

[1]
1
[2]

End of Paper
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b In the figure Below, ABC is a triangle.

A

() What ia base of tiangle ABC whean the height ls D7
(b} What is tha height of tiangle ABC when the base is AC?
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Inthe square grid below, AE, CG, AB, BC, FG and FE are siraight tras,

A Joom
—ry G

f0.cm i

4

G %

c E
What is the tatal arsa of the shadad paris 25 shown in the gure?
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For quesﬁon; 3 to &, show your warking clearly and write your answers in the
spaces provided. The pumber of marks availabla is shown in brackets { ] at
the end of each question or part-question. {16 marks)

3 The solid shown below is made Lp of some 1-om cubss,

Top view

{a) What is the valume of the salid?
6 3
Ans: () A )
{b) Draw the top view and the front view of the solid 6n the grids below.

Top View Front View

a = & ® s 8 & = L L I T

= & & a = + » LI S Y . -

. I ..

12

A farmer harvasted 123.20 kg of groundntts In the moming,

{a} How many grems of groundnuts did the farmer harvest in the

moming? .

(b} The fanmer than harvestad another 88 kg 710 g of groundnuts in the

sfternoon. ANl the groundnuts harvested by the famer In the
moming and aflerncon wena packed Into bags of 100 g each. How
many such bags of grotindnuts wers thare?

123.29 X 000 = 123 29

11

212 000
2120

123 290 + E§ 7w
212 00D % 100

1

ae @ 23 290
w 2020 @
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A rectangular tank was 3-ﬁnedwnhw-aterail-ﬁrst. Soma of the water
from the rectangular tank was poured irto an emply cubical cortainer of
sides B cm each to the brim. The rectangutar tank then became %-ﬁiled
with water, .

£

(&) What was the voluma of water in tha cubical comainer when it was
filled to the brim?

{b} What was tha capacity of the rectangular tank? Give your answer
In Fres and miliiitres.

£
s T3 "5 45
L

gxixg =2

funid = 512 .
15 wibe = ST2xIE
T80 epnd= TL $ROmL
Ans: (a) 512 e’ ol
w 1L 68Ot

The table shows the length of ribbon used in each month by Jisao. The
langth of ribbon she used in May and Jupe are pot shown.

Month Length of ribbon used [m)
January 128.85
Feobruary 1302,

March 132.55

Aprl__ 140.35
May
Jung

(a) in which month, from January to April, did Jisop use tha shorlesi
length of ritbon?

(b} What was the tolaf length of ribban Jisoo used in February and
Apif? :

{c} In June, Jisoo neaded 50 pleces of ribbons, sach of length 2.2 m.
The ribbon was sald in ralls of 10 m sach. What was the jeast
number of rolls of fibbon that Ssoo needed to buy?

(@) Each of the stataments below is either true, faise or not possibia to
tell from the information given. For each statement, pul a tick () to
indicata your answer,

Jisoo used the longest tength of l/
ribbon in May. ;

Between the manths of January .
and Aprll, the geatat incregse \/
in the length of ribbon used wag
from Febreary to March.

130. 2 4 tU40-35 = 279 .55 n

0 2224545 .
505t 2 125

2+1=1% as @ :T.“"Wi n

w _#0.55m iy
w 12
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